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(i). What event could have caused the shifts in the supply and demand curves? [0.5 marks]

(ii). Has the dollar price of a British pound increased or decreased and by what amount? [0.5 marks]
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PART 5 [6 MARKS TOTAL]
Part 5(a)

Refer to the following figure which shows the market for Australian dollars against the British pound.
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Part 5(e)

Suppose that large budget deficits in Australia lead to an increase in Australian interest rates. What
effect will the increase in interest rates have on the value of the dollar relative to the $US? What will
happen to net exports and aggregate demand as a result? [1.5 marks]
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Part 5(d)

If you know that a country’s net foreign investment is positive, what does that tell you about the
relationship between the country’s national saving and private investment? [1 mark]
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Part 5(c)
Suppose that health experts discover that French red wine lowers cholesterol. How will this affect the

demand and supply of dollars in exchange for euros? Will the dollar appreciate or depreciate? Explain.
[1.5 marks]
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PART 3 [6 MARKS TOTAL]
Part 3(a):

Suppose Apple plans to produce 17,800,000 iPhones this year. The company expects to sell
17,500,000 and add 300 000 to the inventories in its stores.

Suppose that at the end of the year, Apple has sold 17,900,000 iPhones. Answer the following:
(i). What was Apple's planned investment spending on iPhones? [0.25 marks]

(ii).What was Apple's actual investment spending on iPhones? [0.25 marks]

Now suppose that at the end of the year, Apple has sold 17,100,000 iPhones.
(iii). What was Apple's planned investment spending on iPhones? [0.25 marks]

(iv). What was Apple's actual investment spending on iPhones? [0.25 marks]
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Part 3(b):

The following table shows National Income and Real GDP (Y) and Consumption (C) for the period

2015 to 2019
Year National Income and Real GDP (Y) | Consumption (C)
2015 $9 000 $8 000
2016 $10 000 $8 750
2017 $11 000 $9 500
2018 $12 000 $10 250
2019 $13 000 $11 000

What have been the average savings rate over from 2015 to 2019? [Enter your responses as integers
and no commas between values][0.5 marks]

write your answer here
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Part 3(c)
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Based on the movement from point A to point B in the diagram, what is the value of the
multiplier? [0.5 mark]

The value of the multiplier is.......

[Enter your responses as one decimal place]
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Part 3(e) Marks

Provide a justification why each of the following would cause the value of the multiplier to be larger or
smaller

(i). An increase in imports [0.5 marks]
(ii). An increase interest rates. [0.5 marks]

(iii). An increase in marginal propensity to consume. [0.5 marks]
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Part 3(d)

The following table shows the values for Y, C, I, G, and NX (in billions).

Real GDP (Y) | Consumption | Planned Government Net Exports
($) (C)($) Investment (I) | Purchases (G) | (NX) ($)
($) ($)

15000 14000 1250 1250 -750

16000 14750 1250 1250 -750

17000 15500 1250 1250 -750

18000 16250 1250 1250 -750

19000 17000 1250 1250 -750

Use the information in the table to answer the following questions

(i). What is the equilibrium level of GDP? [0.5 marks]

(ii). What is the MPC? [0.5 marks]

(iii). Suppose next exports increased by $400 billion. What is the new equilibrium level of GDP? [0.5

marks]
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Part 5(b) Mark

If Australian demand for purchases of British goods has decreased, how would you expect the
equilibrium exchange rate in the market for dollars to respond? Explain. [1 mark]





